ERA 4
	[bookmark: table08]Apollo 40 PR

	Traction PR 15

	Speed ​​9 + 7 = 16 PR

	Total 71 PR

	ARES 45 PR

	A path
	path B
	path C

	6 PR accelerator
	Speed ​​16 PR
	Reliability 8 PR

	
	Wagons 20 PR
	

	Total 51 PR
	Total 81 PR
	Total 53 PR

	NEPTUNE 25 PR
	Horus 60 PR
	HERMES 60 PR

	Acceleration 7 + 3 = 10 PR
	Speed ​​7 PR
	Wagons 13 + 12 = 25 PR

	Wagons 15 PR
	Wagons 16 PR
	Speed ​​25 +15 = 40 PR

	
	Reliability 5 + 5 = 10 PR
	

	
	
	Full options (recommended)

	
	
	Acceleration 6+ 4 = 10 PR

	
	
	Reliability 5 + 5 = 10 PR

	Total 50 PR
	Total 93 PR
	PR Total 125 (145 Full PR)

	THOR 40 PR

	Wagons 20 + 18 = 38 PR

	Acceleration 12 + 7 = 19 PR

	Speed ​​15 + 7 = 22 PR

	Reliability 6 + 13 = 19 PR

	Total 138 PR

	POSEIDON 50 PR

	Wagons 25 PR

	Acceleration 18 + 8 = 26 PR

	Speed ​​16 + 20 = 36 PR

	Reliability 13 PR

	Total 146 PR

	Hook 80 PR

	TOTAL
	TOTAL B
	TOTAL C (BIS)

	536 PR
	609 PR
	613 PR (PR 633)


Note :
It is for everyone to choose their own path. This is an indication but, it is to consider making the loco V priority with FULL OPTIONS and continue to THOR when you have finished with V.
Good game to all.

